o(d x) (um) for PV

Ratio

a(dy) (um) for PV

Ratio

a(d z) (um) for PV

Ratio

10?

10?

10

=

+13

ik

' 0G

=50 5 10 15 20
Vertex z (cm)

o0 X) (um)

10

e

o -15-10 =5 0 5 10 15 20
Vertex z (cm)

.
T T

o(d x) for merged vertices (um)

Ratio

DQM_TT _original
58
D

|

M_TT_ mod_modelsdeep_truthfinal_reg_modelTEST-24
M~TT_—mod~modelsdeep_something3

10°E

Vertex z (cm)

10 15 20
Vertex z (cm)

a(0y) (um)

0(0 2) (um)

Ratio

05 10 15 20
Vertex z (cm)

=15 =10 -5

10°[

******ﬁ

+

Ear Do
L v I
RO
]
-H"'! S

50 5 10 15 20
Vertex z (cm)

o(d y) for merged vertices (um)

Ratio

o(d z) for merged vertices (um)

Ratio

B -i5-10 =5 0 5

10 15 20
Vertex z (cm)

10° =

10?

Vertex z (cm)



	Contents
	Page 1


